AQA PHYSICS 1 – QUICK TEST 2 
  NAME ___________________________
Attempt all of the questions - Marks shown in [ ] - Max 25


ELECTRICAL POWER, COST & DISTRIBUTION, ENERGY RESOURCES & THE GENERATION OF ELECTRICITY

Q1
Use the equation:

energy transferred = power × time

to calculate:

(a) The energy used by a 60W light bulb in 20 seconds

energy =  __________________

[2]

(b) The time taken for a 2kW heater to use 50kJ of energy

time =  __________________

[3]
Q2
How much will it cost the run the heater of Q1(b) for 5 hours if 1kWh of electricity costs 15p?

cost = _____________


[2]

Q3
Why does the voltage available drop as 

power lines become longer?

[2]

Q4
Why is AC rather than DC used for the transmission of electric power?

[2]


Q5
What is the purpose of a step-up 

transformer?






[2]

Q6
Complete:



[6]

Virtually all the energy on Earth originates from the __________. Green plants convert 

__________ energy into ______________ energy. 

This energy can be released when the plant is ______________. Coal is the fossilised remains of plants that lived approximately 300____________ years ago. It is estimated that Great Britain has about 250 years reserve of coal. In a power station 35% of the coal's energy produces electricity, the rest is wasted as _______________.

Q7
Complete the table below:

[4]
	Energy source name
	Source
	Renewable?

	Solar
	Sun
	Yes

	Fossil
	Sun
	

	Nuclear
	Earth
	

	Tidal
	
	


Q8
Give one advantage and one disadvantage of using wind as an energy source. 

Advantage:


Disadvantage:







[2]
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MARK OUT OF 25
___________________

